8C Wednesday 21st March 2007

Read the information and then work on the task that follows

Charles II was King from 1660-1685. 

He became King in the Restoration and kept all the powers his father, Charles I had enjoyed. 

He had all the powers his father had had, but a limited treasury. He spent more than he was given, developing a poor reputation as a high spender.

He had 13 children altogether but none were legitimate so none could become King!

He was a secret Catholic, and this was his biggest quarrel with Parliament.

His brother became King after him. This was a big problem as he was openly Catholic.

James II 1685-1688

James is very important to our argument. He caused the Glorious Revolution of 1688 which changed relations with Parliament for good.

His reign ran into trouble when he made no secret of his Catholicism, giving jobs to Catholics in the government and army. 

When his ministers disagreed with him he sacked them. Parliament became a nuisance so it was sent away and the King ruled alone. 

He had a Protestant daughter called Mary. Many people hoped she would become Queen on his death. But he remarried and his wife had a baby son. He would grow up a Catholic…

This was the final straw. Parliament INVITED Mary’s husband, William of Orange, to take the throne. Parliament had in effect ELECTED a king for the first time! 

 William and Mary 1688-1702

William and Mary were Protestant rulers but they ruled by the consent of the people. 

Parliament passed a Bill of Rights in 1689 which limited their power.

They could not tax by themselves or raise an army.

He had to fight a war against Catholics in Ireland, and relied on Parliament for money and support. 

This was the first time a monarch ruled by consent of the people, rather than by divine right. This was a decisive shift in power towards Parliament.

Anne 1702-1714
Anne was 37 when she inherited the throne. She had been pregnant 18 times but only five babies were born alive and all died as children. She was thought not to be as clever or as interested in ruling as William III.

She relied on her close friends to run the country but would sack them if she wished. 

Parliament did not take away any more powers, but she never dared to dismiss Parliament like her father had done.

In 1707 the Act of Union joined together England and Scotland with a single Parliament.

When she died in 1714 it was Parliament who decided the throne should pass to the nearest Protestant heir. 

George I 1714-1727

George I did not speak much English and went back to Hanover, his homeland, as much as possible. 

He had the first ‘Prime Minister’, Robert Walpole, for 21 years of office. He had the right to choose his own ministers but did not choose to use his power. 
Your task: Using this information and the textbooks at the back of the room, added to your own knowledge, make a presentation on ‘Who lost the most power to Parliament by 1660’. 

Your task
You must be prepared to give a brief 3 minute talk on which monarch or monarchs you believe were most responsible for the shift of power to Parliament. This does NOT mean reading your words on a powerpoint. 

Prepare your work today – next lesson we will be holding the presentations and then we will have a formal debate – there may even be prizes of an edible nature! 
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